Question 1

(a) Use Riemann sums to find
$$\int_{0}^{2} (x^{2} + 4) dx.$$
 [3 points]

$$\Delta x = \frac{2 - \circ}{n} = \frac{2}{n}$$

$$x_{k} = \frac{2k}{n}$$

$$R_{p} = \sum_{k=1}^{n} \frac{1}{r} (n_{k}) \Delta x = \sum_{k=1}^{n} \left[\frac{(2k)^{2}}{n} + \frac{4}{r} \right]_{n}^{2} = \sum_{k=1}^{n} \frac{(4k^{2} - \frac{2}{n} + \frac{8}{n})}{k}$$

$$= \frac{8}{n^{3}} \sum_{k=1}^{n} \frac{k^{2}}{r} + \frac{1}{k} \sum_{k=1}^{n} \frac{8}{n}$$

$$= \frac{8}{n^{3}} \cdot \frac{n(n+1)(2n+1)}{6} + 8$$

$$= \frac{4(n+1)(2n+1)}{3n^{2}} + 8$$

$$= \frac{32}{3} + 8$$

$$= \frac{32}{3}$$

(b) Evaluate the integrals:



ii. $\int \frac{\ln x + 1}{\sqrt{9 - x^2 (\ln x)^2}} dx.$
$= \int \frac{\ln n + 1}{\sqrt{q - (n \ln n)^2}} dn$
$= \int \frac{1}{\sqrt{9-u^2}} du$
= $5in^2\frac{u}{3} + C$

$$U = \chi \ln \chi$$
$$du = (\ln \chi + \chi \cdot \frac{1}{\chi}) du$$
$$= (\ln \chi + 1) d\chi$$

[2 points]

=
$$sin^{-1} \frac{\chi \ln \chi}{3} + C.$$

iii.
$$\int \frac{dx}{x\sqrt{1-x^8}}$$

$$= \int \frac{x^3}{x^4\sqrt{1-x^8}} dx$$

$$= \frac{1}{4} \int \frac{1}{u\sqrt{1-u^2}} du$$

iv.
$$\int x \sec^2 x dx$$
. [3 points]
 $= x \tan x - \int \tan x dx$
 $= x \tan x - (-\ln|\cos x|) + C$
 $= x \tan x + \ln|\cos x| + C$
 $= x \tan x - \ln|\sec x| + C$

$$v. \int \sin^{2} x \cos^{5} x dx.$$

$$[3 \text{ points}]$$

$$= \int \sin^{2} x (1 - \sin^{3} x)^{2} \cos x dx$$

$$= \int u^{2} (1 - u^{2})^{2} dx$$

$$u = \sin x$$

$$du = \cos x dy$$

$$= \int u^{2} (1 - 2u^{2} + u^{4}) du$$

$$= \int (u^{2} - 2u^{4} + u^{6}) du$$

$$= \int (u^{2} - 2u^{4}) du$$

$$= \int (u^{$$

vii.
$$\int \frac{x^{3}+3}{(x+1)(x^{2}+1)} dx.$$

$$(x+1)(x^{1}+1) = x^{3} + x^{1} + x + 1$$

$$= \int 1 + \frac{-x^{2}-x+2}{(x+1)(x^{2}+1)} dx$$

$$\frac{x^{3}+x^{1}+x+1}{(x+1)(x^{2}+1)}$$

$$\frac{-x^{2}-x+2}{(x+1)(x^{2}+1)} = \frac{A}{x+1} + \frac{Bx+C}{x^{2}+1}$$

$$= \frac{A(x^{2}+1) + (Bx+C)(x+1)}{(x+1)(x^{2}+1)}$$

$$= \frac{A(x^{2}+1) + (Bx+C)(x+1)}{(x+1)(x^{2}+1)}$$

$$x = -x^{2} - x + 2 = A(x^{2}+1) + (Bx+C)(x+1)$$

$$x = -1 \Rightarrow -1 + 1 + 2 = 2A \Rightarrow A = 1$$

$$(\text{cmporing Coefficients} x^{2}_{1} - 1 = A + B \Rightarrow B = -2$$

$$x : -1 = B + C \Rightarrow C = 1$$

$$\therefore \int \frac{x^{2}+3}{(x+1)(x^{2}+1)} dx = \int (1 + \frac{1}{x+1} + \frac{-2x-1}{x^{2}+1}) dx$$

$$= x + \ln|x+1|(-\ln(x^{2}+1) - \tan^{-1}x + C'.$$

Question 2

(a) Compute
$$\lim_{x \to +\infty} (1 + e^{-2x})^{e^x}$$
. [3 points]

$$y = (1 + e^{-2x})^e^x$$

$$\lim_{x \to +\infty} y = e^x \ln(1 + e^{-2x})$$

$$= \frac{\ln(1 + e^{-2x})}{e^{-x}}$$

$$\lim_{x \to +\infty} \ln(1 + e^{-2x})$$

$$= \lim_{x \to +\infty} \frac{\ln(1 + e^{-2x})}{e^{-x}}$$

$$= \lim_{x \to +\infty} \frac{-2e^{-2x}}{e^x(1 + e^{-2x})} = \lim_{x \to \infty} \frac{2e^{-x}}{1 + e^{-2x}} = 0$$

$$\lim_{x \to +\infty} y = e^0 = 1.$$

(b) Find
$$\int_{3}^{+\infty} \frac{dx}{x(\ln x)^{3}}.$$
 [3 points]

$$= \lim_{t \to \infty} \int_{3}^{t} \frac{dx}{x(\ln x)^{5}} \qquad u = \ln x , du = \frac{1}{2e} du$$

$$= \lim_{t \to \infty} \int_{103}^{10t} \frac{u^{-3}}{4u} du$$

$$= \lim_{t \to \infty} \frac{u^{-2}}{1n^{3}} \int_{103}^{10t} \frac{1}{(10e^{2})^{2}} \int_{10}^{10e^{2}} \frac{1}{(10e^{2})^{2}} \frac{1}{(10e^{2})^{2}} \int_{10}^{10e^{2}} \frac{1}{(10e^{2})^{2}} \int_{10}^{10e^{2}} \frac{1}{(10e^{2})^{2}} \frac{1}{(10e^{2})^{2}} \int_{10}^{10e^{2}} \frac{1}{(10e^{2})^{2}} \frac{1}{(10e^{2})^{2$$

[3 points]

Question 3

(a) Find the surface area obtained by revolving the curve $x = t^3$, $y = 3t + 1, 0 \le t \le 1$ about the *y*-axis.

$$S = \int 2\pi t^{3} \sqrt{(3t^{2})^{2} t^{3}} dt$$

= $\int 6\pi t^{3} \sqrt{t^{4} t^{1}} dt$
= $\int \frac{6\pi}{4} \sqrt{u} du$
= $\frac{3}{2} \pi t^{2} u^{\frac{3}{2}} \int_{1}^{2} = \pi \left[2^{\frac{3}{2}} - 1 \right],$

(b) Sketch the region inside $r = 3 \sin \theta$ and outside $r = 3 - 3 \sin \theta$ and find its area. [3 points]

$$3 \sin \theta = 3 - 3 \sin \theta$$

$$\Rightarrow \sin \theta = \frac{1}{2} \qquad \therefore \quad \theta = \frac{\pi}{6}, \frac{5\pi}{6}$$

$$\therefore \quad A = 2 \int_{-\frac{\pi}{2}}^{\frac{\pi}{2}} \left[3\sin^{2}\theta - (3 - 3\sin\theta)^{2} \right] d\theta$$

$$= \int_{-\frac{\pi}{6}}^{\frac{\pi}{2}} 2 \sin^{2}\theta - 9 + 18\sin\theta - 9\sin^{2}\theta \, d\theta$$

$$= \int_{-\frac{\pi}{6}}^{\frac{\pi}{2}} 18\sin\theta - 9 \, d\theta = \left(-18\cos\theta - 9\theta\right) \int_{-\frac{\pi}{6}}^{\frac{\pi}{2}} 18\sin\theta - 9 \, d\theta = \left(-18\cos\theta - 9\theta\right) \int_{-\frac{\pi}{6}}^{\frac{\pi}{2}} 18\sin\theta - 9 \, d\theta = \left(-18\cos\theta - 9\theta\right) \int_{-\frac{\pi}{6}}^{\frac{\pi}{6}} 18\cos\theta - 9 \, d\theta = \left(-18\cos\theta - 9\theta\right) \int_{-\frac{\pi}{6}}^{\frac{\pi}{6}} 18\cos\theta - 9 \, d\theta = \left(-18\cos\theta - 9\theta\right) \int_{-\frac{\pi}{6}}^{\frac{\pi}{6}} 18\cos\theta - 9 \, d\theta = \left(-18\cos\theta - 9\theta\right) \int_{-\frac{\pi}{6}}^{\frac{\pi}{6}} 18\cos\theta - 9 \, d\theta = \left(-18\cos\theta - 9\theta\right) \int_{-\frac{\pi}{6}}^{\frac{\pi}{6}} 18\cos\theta - 9 \, d\theta = \left(-18\cos\theta - 9\theta\right) \int_{-\frac{\pi}{6}}^{\frac{\pi}{6}} 18\cos\theta - 9 \, d\theta = \left(-18\cos\theta - 9\theta\right) \int_{-\frac{\pi}{6}}^{\frac{\pi}{6}} 18\cos\theta - 9 \, d\theta = \left(-18\cos\theta - 9\theta\right) \int_{-\frac{\pi}{6}}^{\frac{\pi}{6}} 18\cos\theta - 9 \, d\theta = \left(-18\cos\theta - 9\theta\right) \int_{-\frac{\pi}{6}}^{\frac{\pi}{6}} 18\cos\theta - 9 \, d\theta = \left(-18\cos\theta - 9\theta\right) \int_{-\frac{\pi}{6}}^{\frac{\pi}{6}} 18\cos\theta - 9 \, d\theta = \left(-18\cos\theta - 9\theta\right) \int_{-\frac{\pi}{6}}^{\frac{\pi}{6}} 18\cos\theta - 9 \, d\theta = \left(-18\cos\theta - 9\theta\right) \int_{-\frac{\pi}{6}}^{\frac{\pi}{6}} 18\cos\theta - 9 \, d\theta = \left(-18\cos\theta - 9\theta\right) \int_{-\frac{\pi}{6}}^{\frac{\pi}{6}} 18\cos\theta - 9 \, d\theta = \left(-18\cos\theta - 9\theta\right) \int_{-\frac{\pi}{6}}^{\frac{\pi}{6}} 18\cos\theta - 9 \, d\theta = \left(-18\cos\theta - 9\theta\right) \int_{-\frac{\pi}{6}}^{\frac{\pi}{6}} 18\cos\theta - 9 \, d\theta = \left(-18\cos\theta - 9\theta\right) \int_{-\frac{\pi}{6}}^{\frac{\pi}{6}} 18\cos\theta - 9 \, d\theta = \left(-18\cos\theta - 9\theta\right) \int_{-\frac{\pi}{6}}^{\frac{\pi}{6}} 18\cos\theta - 9 \, d\theta = \left(-18\cos\theta - 9\theta\right) \int_{-\frac{\pi}{6}}^{\frac{\pi}{6}} 18\cos\theta - 9 \, d\theta = \left(-18\cos\theta - 9\theta\right) \int_{-\frac{\pi}{6}}^{\frac{\pi}{6}} 18\cos\theta - 9 \, d\theta = \left(-18\cos\theta - 9\theta\right) \int_{-\frac{\pi}{6}}^{\frac{\pi}{6}} 18\cos\theta - 9 \, d\theta = \left(-18\cos\theta - 9\theta\right) \int_{-\frac{\pi}{6}}^{\frac{\pi}{6}} 18\cos\theta - 9 \, d\theta = \left(-18\cos\theta - 9\theta\right) \int_{-\frac{\pi}{6}}^{\frac{\pi}{6}} 18\cos\theta - 9 \, d\theta = \left(-18\cos\theta - 9\theta\right) \int_{-\frac{\pi}{6}}^{\frac{\pi}{6}} 18\cos\theta - 9 \, d\theta = \left(-18\cos\theta - 9\theta\right) \int_{-\frac{\pi}{6}}^{\frac{\pi}{6}} 18\cos\theta - 9 \, d\theta = \left(-18\cos\theta - 9\theta\right) \int_{-\frac{\pi}{6}}^{\frac{\pi}{6}} 18\cos\theta - 9 \, d\theta = \left(-18\cos\theta - 9\theta\right) \int_{-\frac{\pi}{6}}^{\frac{\pi}{6}} 18\cos\theta - 9 \, d\theta = \left(-18\cos\theta - 9\theta\right) \int_{-\frac{\pi}{6}}^{\frac{\pi}{6}} 18\cos\theta - 9 \, d\theta = \left(-18\cos\theta - 9\theta\right) \int_{-\frac{\pi}{6}}^{\frac{\pi}{6}} 18\cos\theta - 9 \, d\theta = \left(-18\cos\theta - 9\theta\right) \int_{-\frac{\pi}{6}}^{\frac{\pi}{6}} 18\cos\theta - 9 \, d\theta = \left(-18\cos\theta - 9\theta\right) \int_{-\frac{\pi}{6}}^{\frac{\pi}{6}} 18\cos\theta - 9 \, d\theta = \left(-18\cos\theta - 9\theta\right) \int_{-\frac{\pi}{6}}^{\frac{\pi}{6}} 18\cos\theta - 9 \, d\theta = \left(-18\cos\theta - 9\theta\right) \int_{-\frac{\pi}{6$$

Question 4

(a) Sketch the region bounded by the curves $y = \sqrt{x+6}$, the x-axis, y = x, and find its area. [3 points]



(b) Find the volume of the solid obtained by revolving the region bounded by $y = (x-2)^2$, y = 1 about the y-axis. [3 points]

$$(n-2)^{L} = 1 \implies n^{L} - 4n + 4 = 1$$

$$n^{L} - 4n + 3 = 0 \qquad (n-3)(n-1) = 6$$

$$y = \int 2\pi n (1 - (n-2)^{2}) dn$$

$$= \int 2\pi n (1 - (n^{2} - 4n + 4)) dn$$

$$= \int 2\pi n (-n^{2} + 4n - 3) dn$$

$$= 2\pi \int (-n^{2} + 4n^{2} - 3n) dn$$

$$= 2\pi \left[(-\frac{n^{4}}{4} + \frac{4}{3} - \frac{3}{2} n^{2}) - (-\frac{1}{4} + \frac{4}{3} - \frac{3}{2}) \right]$$

$$= 2\pi \left[(-\frac{n^{4}}{4} + \frac{4}{3} - \frac{3}{2} n^{2}) - (-\frac{1}{4} + \frac{4}{3} - \frac{3}{2}) \right]$$